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Q'1 An electrically insulating material that is used to prevent metallic contact betwesn the positive and negative plates in a cell,
but permits the flow of lons between the plates, is

Ans X 1. cathode

Question ID : 6044815089

& 2. negative electrode

' 2. separator

X 4. positive electrode

Q.2 t= aw & iy = A Tens 0.00126 ¥ °C #1 300K 9%, $EE RN 1 @ §1 3h &% & Ry

2 @ gy

Ans X 11,154 KX

Question ID : 6044815046

K 21,127 KX
/31,400 K 9T

v 41,100 K 9T

Q.3 is used as a coolant in electrical machines to increase their efficiency. .
Question ID : 6044815103

Ans x 1. Hg

& 2. COy

W 3. SFg

X 4 N>

.4 : a : =

Q4 The nominal voltage for lead-acid cells is: Question ID : 6044815087
Ans X124V

V22V

X314V

X412V
Q.5

Ans x 1. one

v 2 zero

The internal resistance of an ideal voltage source is: [

Question ID : 6044815060




< 3. proportional to resistances in network

X 4 infinite

Q.6

gy 1T B A, 15 @ sfejtus # Regy o #7447 87

2 s Sohm .
1.50hm

Question ID : 6044815074

Ans 1. 225 A
X225 A
X3 2A
V415 A

Q.7

Ans

ATHAT F 0T F HUR W, AeEd § & B F 9w &
X . grEr

Xz.ﬁ@ﬁﬁ-’rﬂﬁ

V'3 confEes

& 4 =TEY

Question ID : 6044815095

Q.8

IH TweT @ 9O i S G @Y & T0H S99 & g0 g % HEod U HeT Hel g #

A. BrE=m-HET (Siemens-meter)

B. ¥a=0/=fET Siemens/meter

2. Frw Covaw & 3f  wy AT FR & =1 &

3. T4 D. 59A= # 3% F gy gy & 9 ofmss ad e E

1. =erERar

Question ID : 6044815034

Ans X 1.1-B, 2-D, 3-C

<2 1-A, 2-D, 3-C

v3 1-B, 2-C, 3-D

< 4 1-A, 2-C, 3-D
Q9 & IAaH A AT Ty §EAss Heres e gl Question ID : 6044815016
Ans o881 [ECRRIERH (afEfefad)

v 2 ITeASar

X 3. HicRer &7 A= ?;FUTIE

X 4 gfarersmar
Q1% One commercial unit of energy equals to: Question ID : 6044815006
Ans

< 1. 1 watt per hour




& 2. 1 watt hour
' 3. 1 kilowatt hour
X 4. 1 kilowatt per hour

Q11 = o oo B &, 159ﬁﬂwﬁﬁﬁamﬁmmﬁ?[

25ghm Sohm

Question ID : 6044815064

LT

—_ 2V 150hm I

T |

Ans of 1495 A
X25A
X 31,0435 A
X 43913 A

Q.12 batteries are used in car.

Question ID : 6044815090

Ans X 1. Zinc-cadmium
v 2 Lead-acid
< 3. Nickel-cadmium
& 4. Zinc oxide

Q13 The operation of a thermocouple is based on:

Question ID : 6044815108

Ans - X 1. Lorentz law
v 2. Seebecks effect
/< 3. Hall effect
X 4. Fleming’s right hand rule

Q.14 et 3oh & R womas Rega (sewgs) W 8 3@ & @ &

Question ID : 6044815112

Cd +2(0H) ——

Ans 1. 2Ni(OH), + Cd(OH)»
X 2. 2Ni(OH)> + HyO + 2¢
X 3. 2Ni(OH); + 2(0OH)
v 4 Cd(OH), + 2e

Q15 1 volt is equivalent to: [

Question ID : 6044814987

Ans 1. 1 joule coulomb
X 2. 1 newton per second

X 3. 1 newton second

+' 4.1 joule per coulomb

Q.16 The material, from the below, having negative temperature coefficient of resistance is: [

Ans 5 1. aluminium

Question ID : 6044815009




X 2 brass
/X 3. copper
v 4 carbon

Q17w urfeas aTo@ $ Sfaktusar aoe e F 3 ¥ r[

XK wE g e

Question ID : 6044814994

X2 ¥I@T &7 ¥ oEda @ &

v gz g
X+ yqfafda war &

Q.18 Jrerer wrawT HEU-EEITS IYEUNT F TR #mﬁ;ﬂ:‘ﬂrﬁmmb[

Ans . TEHT (FEESIE)
X 2 et (TR

Question ID : 6044815099

v 5 URERAT (FEETE)
X o Rl s (w8 )

Q.19 = 79w (@) F oF F2i & w9 & s B v v AEsE A A 2 im F 9RAMY §) 200 VI 1TKW
& Aaw (fey) & BT EeTE A # e fEae e

Ans X 1. 80 m
K240 m
V320 m
K424 m

Question ID : 6044815047

Q20 9 oy o o &, 10 @ IR F Regg ovr AT W

10chm

A

— 2

i

4ohm

Ans X'1.1.632 A
X2 0.263 A
v 1.895 A
X 42434 A

Question ID : 6044815071

12V

Bohm

Q.21 ©= == s & oy svtes # T S W O s 05 A e §oafe = eRe £ ARt
wEE SeeiEr 50 Vo Zefer §) 5w ofaty & AW wr ger 7

Ans 1. 50 0
X210
v'3 100 0

Question ID : 6044814997




X 4250

Q.22

Ans

;h%ﬁﬁmﬁsrﬁngﬁmﬁﬁ?;gawm%?[

Question ID : 6044815065

Tohm

WA

S fwe Zu Os

X 1412 A
v23A
X31A
X4 4A

Q.23

Ans

# @ aw B A, 0.1 @ wfoRuw & fagga v & 9T Fa H

0.10hm

Question ID : 6044815057

X 11542 A
X2 478 A
v 55 A

X4 375 A

Q.24

Ans

ST FA H FF T F AT, T IF F m‘rmmm%l[

Question ID : 6044815092

v g

X 2 ferar
Xaﬁ@am

X 4. Taferse Toca (AR

Q.25

If the temperature increases, the resistance of a pure metal:

Question ID : 6044815008

Ans X 1. first increases then decreases
X 2. remains constant
v 3 increases
X 4 decreases

Q.26

Ans

For the replacement of internal resistors, the ideal voltage source is replaced by: [

< 1. capacitor

Question ID : 6044815061

v 2. short circuit
/< 3. current source

< 4. open circuit

Q.27




In order to replace internal resistance, the ideal current source is replaced by: l

Question ID : 6044815063

Ans 1. voltage source
X 2. capacitor
' 3. open circuit
& 4. short circuit

Q28 The term electric pressure is also referred as:

Question ID : 6044815007

Ans - X 1. Resistance
v 2. Voltage
# 3. Power
& 4 Current

Q.29 =w A =1 =To SfETy 0.6 @ 3t Tu=m oy 600 Mo ¥l AW B & e Sy 0.8 o 3 fee
WA 400 Ma &) 7f & A= A vt & i B e £ A g9 e afEy Rea 2ee

Question ID : 6044815024

Ans ?(1. -! k.Q
X212 M@
v14 @
X414 MQ

Q30 The SI unit of conductivity is:

Question ID : 6044815015

Ans X 1. Ohm/meter
v 2. Siemens/meter
& 3. Ohm-meter
x4 Siemens-meter

Q31 o RF oo R &, Ao W A AT § Regs o’ G 22

Yohm

Question ID : 6044815068

~M,

As 11 A
X24A
X3412 A
X43A

32 oaT R T SRR ST Q g El

Question ID : 6044815005

Ans ?<1- 25
X 2 250
X3 0
v 21,000

Q.33 20 °C W vE T & weEw & waaw 10 o § v 3EEr 0.0030 9 °C #1 0 °C W arEatEw s ad
(FLET) AT

Question ID : 6044815039




Ans

# 1.0.000124 9f3 °C
X 2 0.0000423 gfy °C
v 3.0.00423 9fa °C
X 4 0.00324 5fx °C

Q.34
Ans

A copper wire has a resistance of 10 €2, Tt i= stretched by one-tenth of its orizinal Jenzth. Then its resistance will be:

Question ID : 6044815049

X199
X210Q
X311Q
vi121Q

Q.35

Ans

AT R A NCd &8 & vaers REga (feeE) # 3 womeAs Sege () §
g &

Question ID : 6044815113

X . FefEae gwereass, Fe

X 2. ¥efamm, P

X s el gregiaarss, S AaEs
v fawa grEgeEs, SsfRuA

Q.36

Ans

Lead-acid cells are i [

Question ID : 6044815091

' 1. rechargeable cells

# 2 use and throw cells

< 3. forbidden cells

X 4. non- rechargeable cells

Q.37

Ans

are those which offer very high resistance to the flow of electric current through them when subjected to electric [
potential

Question ID : 6044815100

X 1. Conducting materials
+ 2. Insulating materials
#< 3. Ferromagnetic materials

X 4. Semiconducting materials

Q.38

Ans

e gw PRty 9REy #F e T8 W 9RYY ¥ FEeT SAT WiEd £ S o aeed |ie AR o
FERRT &Y, AT 3W WA & A F4 gy

Question ID : 6044815124




Q.39 mnsonw:ﬁrznoWmﬁmmﬁamzsoVWﬁMﬂﬁi,mmwmmm?l

Question ID : 6044815030

Ans X 1.4 :25

X25:2
vs32:5
X425 4

Q.40 m;ﬂwﬁm%ﬁmﬁﬁaﬁﬁﬁwmmﬁi[

Question ID : 6044815096

Ans xl ma;
X 2. dErr
X 3. woniEes
v ST

Q.41 Fry frdr arw werelf & ¥ Rrwwr SfaRly 1 SR U TR 74T g 82

Question ID : 6044815011

Ans 1 IS T
X 2. HHF (ATSHT) &1
gfs.ugﬁhﬁ'qna?r
X 4 TGS FT

Q.42 300 C & s & BrEERE 56 F B, 0.1 Aﬂ@ﬁmﬂmﬁmﬁrmmmm?[
Ans o 1. 50 min

Question ID : 6044815029

7 2. 5 min
5 3.
X 4 50%

Q.43 =7 7 (frex) F1 S A ¥ Tegy U vARE @ § O O SR 3 S ¥, Wi Regd Rt
A VTN I #T A4 T

Question ID : 6044815023

X1 Tl AR seae ey ¥ s oA §

X 2 3 R U T & TH T 8
53
Foifes aqfd o # F fagga o wa fa ¥ yarfga @ g

v o
AT T Sl wr feRTe T AR @ sfve @ &

Q.44 300 K 7. ™= A% & TR & a9 e 0.00125 ©C ¥ 3 SER 9 19 ¥ 1100 K T SE
aferer sr g@em?

Question ID : 6044815033

Ans - X 1. 51225 @
X230
X 36125 Q
vi20




Q.45

Ans

1 coulomb is equivalent to: l

Question ID : 6044814983

< 1. 1 joule per second
+' 2. 1 ampere second
X 3.1 joule second

X 4. 1 ampere per second

Q.46

Ans

Rfewm a1t ¥ gy Fr T e 3|

Question ID : 6044815107

X . @ Jgar (Fres <AE)

X 2 gfarer
v 3 TTIEE

X 4 &7 @l (Fres w2ey)

Q.47

Ans

vy 1 KA Fegedaar (Yeueae AR F e 2

Question ID : 6044815098

r

TETT &7 JIaa F GEh 8% U & F1Y AU, 56 87 OAcs & 509e T g

X 2

Tega & digar &1 Regd oF 9Fed F FY 9, F 59 87 dga & S0 e gl

X 3.

T 87 Uees & fAehd 87 dEaT & FY HAdE, S 36 H¥ Geied &1 390 el £l

v
Rege &7 uFra @ Regy &7 S99 F §Y FgU S 38 & U6 ) 300 #4T 2

Q.48

Ans

No current flows through two charged bodies if they have equal:

Question ID : 6044815050

X 1. gain
+ 2. potential

< 3. current

X 4. capacity

Q.49
Ans

Batteries operate by converting chemical energy into electrical energy through reactions.

Question ID : 6044815076

X 1. chemically neutral
v 2. electrochemical discharge
X 3. electromechanical discharge

& 4. electron discharge

Q.50

Ans

T EfF uTg (UFe IR-ATH) F FFTAET Fal HAT AT g2

Question ID : 6044815109

v AR Rer (s Re) &
Ko Ffaw &
X 3. TITOTATST (TimeRTHEY) H
X4 Fe &




Q.51

Ans

2 A Taegd 9 91T U 3 Q F IioRiys Rhoel Afdd 3Tedg HE?
vi12w
X22W
X34 W
K48 W

Question ID : 6044815043

Q.52

Ans

Insulation resistance of an insulating material should be:
« 1. high
X 2. one

75 3. zero

X 4 low

Question ID : 6044815004

Q.53

Ans

The resistance of a metallic conductor is inversely proportional to:
< 1. length of the material

v 2. cross-sectional area of the material
/< 3. temperature

& 4. shape of cross-section of the material

Question ID : 6044814992

Q.54

Ans

1 gate 3 Rrae soeia & @Y ¥ AT AT 27
X 1. 625X 10*? golaaleT

X 2 625X 10° SelealeT

Vs 625X 10'° Solereie

X 4 0.625% 10*° Solercred

Question ID : 6044814984

Q.55

Ans

T & e F sEw, o TR & A Svhes # Regn s (Fees) 1 = F
B e

gmwmmmmﬁ
g'ﬁgmmmmmmm
;;ﬁ@mmmmmmﬁ

Question ID : 6044815069

Q.56

Ans

an#mmwmmﬁmmm%mgﬂmmm[

X190
X260
X318 Q

Question ID : 6044815058




vi20

B

Q.57 mméwé:ﬁvmﬁqm(sﬁm)wﬁﬂmaﬁwaﬁl[

Question ID : 6044815085

Pb+ H,SO, :._“
A 1 PbSO, + 2HY + 2e”
X 2 PbOs + HySO4 + 2HY + 2e°
X 3 PbOy + HySO4
X 4 3PbyS0, + 2HCI

¥ o afigy dc F Ge INEY F FaT FAT §?

Question ID : 6044814990

Ans «1_
I $EA ¥ gaifed faega uwr oF T g §
X2 J9 $HA ¥ garfed dlees o+ g @
& 3
9 WA ¥ vAIRd Fegd unT ¥ g &
> 4
9 SHH U YaIed S 3d & &

¥ e B T, TS, TS F4T &2

Question ID : 6044815014

Ans

X . AT

v o d|TE (Siemens)
X s e

X 4 3ER

Q60 3 oy o v B &, 3 o IRIeE F Rega ovr B §7

Question ID : 6044815052

Zohm 3ahm

§ Gohm

sohm dghm

9V

1ohm

Ik AN
Ans X1.1.438 A
v'2 1325 A
X30.824 A
X4 0711 A




Q.61

Ans

0°C o, 3 & vs w # 4 mo w gl ¥ ool swd ofde s e i 172345 sRcC ¥ 70°C
T FHE WiaAT # HE A w

Question ID : 6044815038

X 1. 452 mQ
v'2 519 mQ
X3 422 mQ
X 4 555 mQ

Q.62

Ans

TF FS1 G, F TSRS g I M F geiw mEw gAn F w75 md TS mm ww L W
fer i

Question ID : 6044814989

X175V
X2 750 V
V' 75 kV
X475V

Q.63

Ans

T & HERAE B & damT & *® T F giesnia fFar JEr g

Question ID : 6044815079

Ko
gl g HRfAT g 9T &TAAT & TIET SHH aleds & 39ed Fiaed

X 2

I W FERE g 9 Fegd ur & AU (1fE) & i sueET aar & sueey Siaed

v

T TR HRATAT g 9T &THAT & WIOET $HeR! 87T & 39eed Fidurd
X 4

oif Tt T e W Ses B ) ¥ ame e s & sueEy s

Q.64
Ans

Ag the temperature of pure metal increases, the product of its resistivity and its conductivity:

Question ID : 6044815048

1. increases linearly
X 2. increases exponentially
X 3. decreases

+ 4 remains constant

Q.65

Ans

A= o v aftgy & Fa fegg orr 79 F

Question ID : 6044815121

Gohm

—A

-]

§4ohm § St

12o0hm
@ oV

§ 9ohm
8ohm

vi3A
X22A
X3 4A
X41A




°'66EEFHW$WHWWMWE‘HT%?[

Question ID : 6044815017

Ans ?‘:1- QJFI
X2 Th
W 3 HUTcHS
X 4 gATHS

Q'”WW?%I@H_W#@HWWWWTW%?[

Question ID : 6044815062

Ans X1 T

V2 3Ea
X3 TH
X 4 HNS (FeTer) H Fierrd! & Hgaiias

Q.68 == sfirwon wiE fHEgy uwr i U HT S 0.5 W I SifE B 1.8 ko SR 8 # e
AT #

Question ID : 6044815120

Ans of 1. 16 mA
X2 0.16 mA
X3 16 pA
X416 A

Q.69 i ¥ fegmm uwr & W (SEITH) F FEE, SR § S S S et i Hege o a
drsaitda T waT fkwew auaT #ar 7

Question ID : 6044815051

Ans XT *
Y &3
mmﬁmrmﬁmﬁﬁa@ﬁw#wa:w

X 3.
SFFUT H FAA F AT Aloest AR I & UGS F T

X4 qT

°'7°aaﬁ'£r?mqﬁ'=rerﬁaaﬁﬁqgaﬂmmaﬁ‘l[

Question ID : 6044815117

Gohm

&

§ 4ohm
12o0hm
Onav =

? 8ohm

Ans 13 A
v21A




X315 A
X405A

FHY & A o RET e B s § A o9 25 A & e Rega ovr de d o 20 C

Q.71 = Ag & (femie &) &1 240 V, 60 W s wAw faufy (1f) ¥ ofx 240 V o st v 20 °ct[
ATA T 0.005°C §, o A 1 AGHIT AIHE FT EOT 2

Question ID : 6044815001

Ans X 1.1,656.3 °C
X 2 165.63 °C
V'3 1,800 °C
X 4180 °C

Q.72 mmﬁ,mmmﬁ@m@mﬁﬁmﬁ?[

Question ID : 6044815056

2ohm 3ohm

g Gohm

Sohm 4ohm

fohm

[1]1 AV
Ans X1.3.25 A
X 21438 A
X 31325 A
v 215 A

Q.73 = sart #, 1.75x10° Alm &7 Tehrr &7 FFE 7 5 0.2182 Whim? &1 Jeh woew g 39
T ¥ s o # o (uH im) #

Question ID : 6044815106

Ans X 1. 0.6
X204
R

vi12

Q.74 I R wrv BT =1 fredwor ] F 5 @ R F REgg err A

fohm

Question ID : 6044815067

Ay

—, 3ohm Sohm 6A

T

Ans K14 A
v23A
X3 1A
X4 412 A

Q.75 [

Question ID : 6044815072




Ans

49#&-‘@%;&%@3

g 10ohm

e

— v

:

S

X 11632 A
X2 1895 A
v': 0263 A
X4 2434 A

Q.76
Ans

According to Norton's theorem, electrical network can be reduced o

& 1. single emf source and parallel load resistor

in parallel with load resistor.

Question ID : 6044815070

X 2. single emf source and series load resistor

v &)

single current source and parallel load resistor

X 4. single current source and series load resistor

Q.77

Ans

Conductivity is reciprocal of:

W 1. resistivity

X 2. electric density

# 3. electric field strength

7 4 resistance

Question ID : 6044814993

Q.78

Ans

For a material to be a good dielectric, it must be a/an . [

X 1. conductor
X 2 solid

v 3. insulator

X 4 semiconductor

Question ID : 6044815097

Q.79

Ans

TEN & A F ATAUY 25 °C 97 55 @ F #T 75 °C 97 57.2 @ #1 0 *C 97 SHHT IAEF F uar

(AT 7 F:

X 1.0.009/°C
v 2.0.0009/°C
X 3. 0.9/°C

X 4.0.09/°C

Question ID : 6044815128

Q.80

aﬁaﬁ@am#m#maﬂmmmﬁ?[

Question ID : 6044815020




e o et gfaer
X 2 giaRrer
X = &1l T
X 4 AT

Q81 sater & Fal W T F W AT (FEFUA) T 87

Question ID : 6044815093

ns%;{mﬁamﬂéﬁm(éﬁmﬂ?q?
:m;?r(ﬁ?ﬁm%ﬁm(éEﬁmj ds 9T
ﬁ?;;a(aﬁmé‘gﬁﬁw{mﬁamﬂ?m
a::(ﬂ;(mmj &5 ¥ gOea (F0) 88 W

V2 sew w forww fFw ) o] A g 82

Question ID : 6044815010

e X 3T dreesT aRwYt WX

< 3.
faega orT F FA geT ar TRTYt W

v o foETa Al (FFE ese) W)

Q.83 Insulation resistance is defined as opposition to the flow of:

Question ID : 6044815018

Ans o1 leakage current

X 2 voltage

/< 3. electromotive force
< 4. current

Q.84 FrraEe 0 & faega sy (Fegemse) frme famor g 22 [

Question ID : 6044815083

Ans X 1
TR 3 AR EEselNeG 3 &

X 2 HyS04 3T NaCl Fr
X 5 grERIFe e T I &
Vi TEFgRE FFEA AR 9 #

Q.85

Question ID : 6044815066




Ans

mﬁﬁﬁmﬁaﬁ,agqﬁﬁwﬁﬁ?@awmﬁ?

fohm

— v 3ohm b C:) &a

X13A
v 4 A
X3 412 A
X41A

Q86 Tnsulation resistance of a straight cable is:

Ans

Question ID : 6044815021

X 1. zero
X 2. directly proportional to the length of cable

« 3. inversely proportional to the length of cable
X 4. one

Q.87 zfy sfertues 3w & Fros &7 oo aear ¥, o 3§ AT FET e 87

Ans

Question ID : 6044814991

v @ et (Ao WeE)
X 2 uafae sfatus (SufaRs W)

X 5 3-IET gfeRTe (Ala-eii=aT feree)
> a
- wfates (Fa-Sufais e

Ans

Q.88 The main reason of using Constantan wire for making standard resistance is: [

Question ID : 6044814999

X 1. high melting point
Y &3

negligibly small temperature coefficient of resistance
X 3. low specific resistance

X 4. high specific resistance

Q89 fgge sty fege ur”T & vaE & fe eI FRT gl

Ans

Question ID : 6044814988

&K 1. STelehcd
v 2 T
X 3 TE AT
X4 Frees

Q.90

Question ID : 6044815122




e gw PraRTes 9imy & e T8 §IE 9RYY ¥ T SAT WiEd £ e o Seed |ig i e
RN &, 37 39 Wi & A Fr g

Ans ?(TBQ

Q.91 Fra-d=fms & & BT gacAs Regae (SeedE) W a9 W@ =1 @ w1
. o o . Question ID : 6044815111

B ——

2NiOOH+ 2H,0+ 2e° “=

Ans X 1. 2Ni(OH); + (H20)
X 2. 3Ni»S0O4 + 2HCI
X 3. NigHO, + 2H,0
v 4 2Ni(OH), + 2(OH)

.92 : i :
Q92 Which of the following statements is true? Question ID : 6044815019

Ans 3 1. 200 k€ is equivalent to 2 M€,

v 2. An electric insulator has a high resistance.
X s

An ammeter has a low resistance and must be connected in parallel with the circnit.

X 4. Blectric current is measured in volts.

.93 : : y y
093 Crfaie R # 4 o yetus F Regg arr 719 = Question ID : 6044815053

2ohm 3ohm

gﬁuhm

Sohm 4ghm

1ohm

v
i1

Ans K1.0.711 A
v'2 0824 A
X31.325 A
X 41438 A

Q.94 ‘Resistance decreases with i in temy 2" it a property exhibited by which of the following materials? [

A Question ID : 6044815003
ns o 1 Carbon

/< 2. Copper




< 3. Silver
/< 4. Constantan

Q.95 In nickel-cadmium cells, the electrolyte is a mixture of

Ans

Question ID : 6044815086

< 1. potassium chloride and deionised water
' 2. potassium hydroxide and deionised water
X 3. sulphuric acid and water

< 4. potassium peroxide and deionised water

Q.96 100 m waTE N TF AR, SEH TH FAW FIWET FE F ETEA 0.01mm? § AT IRRTwS 60 po-em ¥,

FHET TR e gen?

Question ID : 6044814996

Ans 1. 6000 O
X2 6x10730
X 3 600 Q
X460 0

O gree Fr Bftee gfaRy B 9v el o 32

Question ID: 6044814995

e X1 sadr TETS 9fY S AFwe W
X2 FHE TS R
v 3 ZEE gEr W
X 4 FHEF HIITY FIE & TG N

Q.98 The voltage rating for batteries is based on the . [

Question ID : 6044815078
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Q.13 The sulfuric acid (H,SOy) concentration in a lead-acid battery becomes highest when:
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The average EMF of nickel-cadmium battery is 6.2 V per cell.
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A nickel-cadmium battery is superior as compared to a lead-acid battery.
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